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1. (d) fhghhgf/fhghhgf/fhghhgf

2. (d) R  L  Y  V

P  J  W  T

N  H  U  R

L  F  S  P

J  D  Q  N

–2

–2

–2

–2

–2

–2

–2

–2

–2

–2

–2

–2

–2

–2

–2

–2

3. (b) Female

Male 

Married cauple

Siblings 

Difference of a generation 

‘–’

‘+’

‘ ’

‘ ’

‘ ’

(i) T B

K P

O

– +

+

Here, P is the T's son's wife

or daughter -in law.

(ii) T

K P

B O
–

–+

–

Here, P is the T's son's wife

or daughter - in - law.

4. (d)16 – 40 – 100

16 × 2.5 = 40

40 × 2.5 = 100

And,

8 – 20 – 50

8 × 2.5 = 20

20 × 2.5 = 50

Similarly,

24 – 60 – 150

24 × 2.5 = 60

60 × 2.5 = 150

5. (d)

6. (c) Toys Plastic Metal Chemical

7. (a) (148, 126, 104)

 (148 + 104) ÷ 2
 252 ÷ 2 = 126
And,

(98, 76, 54)
 (98 + 54) ÷ 2
 152 ÷ 2 = 76
Similarly,

(157, 126, 113)
 (157 + 113) ÷ 2
 270 ÷ 2 = 135

8. (b)
9. (d) Alphabets

Alphabetical order

S I G H T E D

D E G H I S T

10. (b) Fruits

Sour

Vegetables Green

11. (c) 9,  17,  33,  65,  129,  257

×2–1 ×2–1 ×2–1 ×2–1 ×2–1

12. (b)
13. (a)

14. (b) R  E  T  A  I  N  E  D

E  N  I  A  T  E  R  D

And,

M  A  T  U  R  I  T  Y

T  I  R  U  T  A  M  Y

Similarly,

F  I  R  E  W  A  L  L

L  A  W  E  R  I  F  L

15. (b) G  L  O  B  A  L

T  O  L  Y  Z  O
20 15 12 25 26 15

22 17 14 27 28 17

+2 +2 +2 +2 +2

O
p
p
.

And,

F  O  R  E  S  T

U  L  I  V  H  G
21 12  9  22   8  7 

23 14  11 24  10 9

+2 +2 +2 +2 +2

O
p
p
.

Similarly,

I  M  P  A  C  T

R  N  Z  X  G
18 14 11 26 24  7

20 16 13 28  26  9

+2 +2 +2 +2 +2

O
p

p
.

16. (b)83, 97
The next alternate prime
number after 83 is 97.
 73, 79 (odd)
The next consecutive prime
number after 73 is 79.
 61, 71
The next alternate prime
number after 61 is 71
31, 41
The next alternate prime
number after 31 is 41

17. (a) 107 + 2028 × 6 – 427 ÷ 7
'+' and '–' and '×' and '÷' are
interchanged then,

 107 – 2028 ÷ 6 + 427 × 7
 107 – 338 + 2989
 – 338 + 3096
 2758

18. (a)S   V    X    Z (odd)

+3 +2 +2

E   H    J    K

+3 +2 +1

Y   B    D    E

+3 +2 +1

T   W   Y    Z

+3 +2 +1

19. (c) Vacant is synonym of Empty
Similarly,

Crowd is synonym of Throng

20. (d) R   E   A     D   E   R

E   R   Z     W   R   E

Opp.

And,

S  E    R      I    A   L

E  S     I      R    L   A

Opp.

Similarly,

J   I    N     G    L   E

I    J   M     T    E    L

Opp.
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21. (b)

22. (b)42 × 3 ÷ 4 + 9 – 17

Now, Replacing the sign

 42 ÷  3 + 4 × 9 – 17

 14 + 4 × 9 – 17

 14 + 36 – 17

 50 – 17 = 33

22. (a)

23. (c) 16 : 30

    
2

16 1 16 1  

 (4 + 1)2 + (4 + 1)

 52 + 5

 25 + 5 = 30

And,

81 : 110

    
2

81 1 81 1 

 (9 + 1)2 + (9 + 1)

 (10)2 + 10

 110

Similarly,

49 : ?

    
2

49 1 49 1  

 (7 + 1)2 + (7 + 1)

 82 + 8

 72

24. (b)

25. (a)

B-GENERAL AWARENESS
26. (c) Razia Sultana, the daughter

of Mamluk Sultan

Shamsuddin Iltutmish, first

ruled Delhi in 1231-32 when

her father was engaged in the

Gwalior campaign. After his

death in 1236 AD, she

ascended the throne. She

was the first female ruler of

the subcontinent and the

only female Muslim ruler of

Delhi./ekeyqd lqYrku 'kelqíhu

bYrqrfe'k dh csVh jft;k lqYrkuk us

lcls igys 1231&32 esa fnYyh ij

'kklu fd;k Fkk] tc muds firk Xokfy;j

vfHk;ku esa O;Lr FksA 1236 bZLoh esa

mudh e`R;q ds ckn] og flagklu ij

cSBhaA og miegk}hi dh igyh efgyk

'kkld vkSj fnYyh dh ,dek=k eqfLye

efgyk 'kkld FkhaA

27. (b)The Kaveri River originates

from Talakaveri in the

Brahmagiri range of the

Western Ghats in Kodagu

district, Karnataka. It flows

about 800 km before merging

into the Bay of Bengal at

Poompuhar in Tamil Nadu./

dkosjh unh dukZVd ds dksMkxq ftys esa

if'peh ?kkV dh czãfxfj Js.kh esa

rydkosjh ls fudyrh gSA ;g rfeyukMq

ds iweiqgkj esa caxky dh •kM+h esa

foy; gksus ls igys yxHkx 800 fdeh

rd cgrh gSA
28. (a) M.S. Swaminathan, an

Indian geneticist, was the

chief architect of the Green

Revolution in India. He

promoted high-yield varieties

of wheat and rice for poor

farmers' fields. While

Norman Borlaug pioneered

the Green Revolution, its

success in India was largely

due to Swaminathan's

efforts./Hkkjrh; vkuqoaf'kdhfon~ ,e-

,l- LokehukFku Hkkjr esa gfjr Økafr

ds eq[; okLrqdkj FksA mUgksaus xjhc

fdlkuksa ds •srksa ds fy, xsgwa vkSj

pkoy dh mPp mit okyh fdLeksa dks

c<+kok fn;kA gkyk¡fd ukWeZu cksjykWx us

gfjr Økafr dh 'kq#vkr dh Fkh] ysfdu

Hkkjr esa bldh liQyrk dkiQh gn rd

LokehukFku ds ç;klksa ds dkj.k FkhA
29. (d)The Phool Dei festival is

celebrated in the Garhwal

and Kumaon regions of

Uttarakhand to welcome the

spring season (March-April).

Children, especially girls,

collect fresh flowers and offer

them to the deities. It is

believed that placing flowers

at doorsteps brings

prosperity and blessings./iQwy

nsbZ R;ksgkj mÙkjk•aM ds x<+oky vkSj

dqekÅa {ks=kksa esa olar ½rq (ekpZ&vçSy)

ds Lokxr ds fy, euk;k tkrk gSA

cPps] •kldj yM+fd;ka] rkts iQwy

bdêòk djrh gSa vkSj mUgsa nsorkvksa dks

p<+krh gSaA ,slk ekuk tkrk gS fd njoktksa

ij iQwy j•us ls le`f¼ vkSj vk'khokZn

feyrk gSA
30. (d)Under Part III of the Indian

Constitution, Article 19(1)(e)

grants every citizen the right

to reside and settle anywhere

in India. However, under

Article 19(5), reasonable

restrictions may be imposed

in the interest of the general

public or for the protection

of Scheduled Tribes./Hkkjrh;

lafo/ku ds Hkkx III ds rgr] vuqPNsn

19(1)(e) çR;sd ukxfjd dks Hkkjr

esa dgha Hkh jgus vkSj clus dk vf/

dkj nsrk gSA gkykafd] vuqPNsn 19(5)

ds rgr] vke turk ds fgr esa ;k

vuqlwfpr tutkfr;ksa ds laj{k.k ds fy,

mfpr çfrca/ yxk, tk ldrs gSaA
31. (a) Venus has the longest day in

the Solar System, with one

Venusian day lasting

approximately 243 Earth

days. Venus's rotation is

retrograde, meaning it

rotates in the opposite

direction to that of most

other planets, including

Earth./'kqØ xzg esa lkSjeaMy dk lcls

yack fnu gksrk gS] tgk¡ 'kqØ xzg ij

,d fnu yxHkx 243 i`Foh fnuksa ds

cjkcj gksrk gSA 'kqØ dk ?kw.kZu çfrxkeh

gS] ftldk vFkZ gS fd ;g i`Foh lfgr

vf/dka'k vU; xzgksa ds foijhr fn'kk esa

?kwerk gSA
32. (b) Lothal in Gujarat has

provided the remains of the

world's oldest dockyard in

history. It served as a major

port city of the Indus Valley

Civilization and was located

at the mouth of the Gulf of

Khambhat, acting as a center

for maritime trade between

ancient India and

Mesopotamia.

xqtjkr ds yksFky esa bfrgkl ds lcls

iqjkus MkWd;kMZ ds vo'ks"k feys gSaA
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blus fla/q ?kkVh lH;rk ds ,d çeq•

canjxkg 'kgj ds :i esa dk;Z fd;k

vkSj •aHkkr dh •kM+h ds eqgkus ij

fLFkr Fkk] tks çkphu Hkkjr vkSj

eslksiksVkfe;k ds chp leqæh O;kikj ds

dsaæ ds :i esa dk;Z djrk FkkA
33. (d)The National Statistical

Office (NSO) launched the

Periodic Labour Force Survey

(PLFS) in April 2017 to

provide labor force data at

more frequent intervals.

Under PLFS, the

unemployment rate is

measured using 'Usual

Status' and 'Current Weekly

Status' approaches. In the

Current Weekly Status

approach, if a person does

not work even for one hour

on any day during the week

but is seeking work, they are

considered unemployed./

jk"Vªh; lkaf[;dh dk;kZy; (,u,lvks)
us vçSy 2017 esa vkof/d Je cy
loZs{k.k (ih,y,iQ,l) 'kq: fd;k]
ftlls Je cy MsVk vf/d yxkrkj
le; varjky ij miyC/ gks ldsA
ih,y,iQ,l ds rgr csjkstxkjh nj dks
^lkekU; fLFkfr* vkSj ̂ orZeku lkIrkfgd
fLFkfr* n`f"Vdks.kksa ls ekik tkrk gSA
orZeku lkIrkfgd fLFkfr n`f"Vdks.k ds
rgr] ;fn dksbZ O;fÙkQ iwjs lIrkg esa
fdlh Hkh fnu ,d ?kaVs Hkh dke ugha
djrk] ysfdu dk;Z dh ryk'k esa jgrk
gS] rks mls csjkstxkj ekuk tkrk gSA

34. (c) The Ghadar Party was an

Indian revolutionary

organization founded in 1913

by Sohan Singh Bhakna,

Kartar Singh Sarabha, and

Lala Hardayal. It was

originally established as the

Pacific Coast Hindustan

Association. Its members

were mainly immigrant

Sikhs from the USA and

Canada/ xnj ikVhZ ,d Hkkjrh;

Økafrdkjh laxBu Fkk ftldh LFkkiuk

1913 esa lksgu flag Hkduk] djrkj

flag ljkHkk vkSj ykyk gjn;ky us dh

FkhA bls ewy :i ls ç'kkar rV fganqLrku

,lksfl,'ku ds :i esa LFkkfir fd;k

x;k FkkA blds lnL; eq[; :i ls

la;qDr jkT; vesfjdk vkSj dukMk ls

fl• vçoklh FksA
35. (a) The velocity of money

(TMSVB) refers to the rate at

which money circulates in

the economy, i.e., how many

times a unit of currency is

used to purchase goods and

services in a given period of

time. According to economic

theory, the velocity of money

fluctuates in the short run

due to changes in demand,

income, and liquidity

preferences. However, these

fluctuations average out and

stabilize in the long run./eqæk
dh xfr (Velocity of Money) ml
nj dks n'kk Zrh gS ftl ij eqæk
vFkZO;oLFkk esa ?kwerh gS] ;kuh fdlh
eqæk dh bdkbZ fdruh ckj fdlh fn,
x, le; esa oLrq vkSj lsokvksa dh
•jhn esa bLrseky gksrh gSA vkfFkZd
fl¼kar ds vuqlkj] eqæk dh xfr
vYidky esa •pZ] vk; vkSj rjyrk
dh çkFkfedrkvksa esa cnyko ds dkj.k
cnyrh jgrh gSA ysfdu nh?kZdky esa ;s
vfLFkjrk,¡ vkSlr gksdj fLFkj gks tkrh
gSaA

36. (a)

37. (c) : Badruddin Tyabji was the

first Muslim president of the

Indian National Congress. He

became the president at the

Madras session in 1887.

Earlier, in 1885, he co-

founded the Bombay

Presidency Association with

Feroz Shah Mehta,

Kashinath Trimbak Telang,

and other leaders/cn#íhu

rS;cth Hkkjrh; jk"Vªh; dkaxzsl ds igys

eqfLye vè;{k FksA og 1887 esa eækl

vf/os'ku esa vè;{k cusA blls igys]

1885 esa] mUgksaus fiQjkst 'kkg esgrk]

dk'khukFk f=k;acd rsyax vkSj vU; usrkvksa

ds lkFk ckWEcs çslhMsalh ,lksfl,'ku dh

lg&LFkkiuk dh FkhA
38. (b)According to the 2011

Census, Bihar had the lowest

female literacy rate at

51.50%, followed by

Rajasthan at 52.12%. On the

other hand, Kerala had the

highest female literacy rate

at 92.07/2011 dh tux.kuk ds

vuqlkj] fcgkj esa lcls de efgyk

lk{kjrk nj 51-50» Fkh] blds ckn

jktLFkku 52-12» ij FkkA nwljh vksj]

dsjy esa lcls vf/d efgyk lk{kjrk

nj 92-07 FkhA
39. (d)The Sundarbans is a vast

mangrove forest ecosystem

located in the delta of the

Ganga, Brahmaputra, and

Meghna rivers, spanning

India and Bangladesh/lqanjcu

,d fo'kky eSaxzkso ou ikfjfLFkfrdh

ra=k gS tks xaxk] czãiq=k vkSj es?kuk

ufn;ksa ds MsYVk esa fLFkr gS] tks Hkkjr

vkSj ckaXykns'k esa iQSyk gqvk gSA
40. (c) Under Article 51A of the

Indian Constitution, it is a

fundamental duty to

preserve and value our rich

cultural heritage. Part IV-A

of the Constitution relates to

fundamental duties.

Currently, there are a total

of 11 fundamental duties

that define the obligations of

citizens/Hkkjrh; lafo/ku ds vuqPNsn

51A ds rgr] gekjh le`¼ lkaLÑfrd

fojklr dks lajf{kr djuk vkSj mldk

egRo crkuk ,d ekSfyd drZO; gSA

lafo/ku dk Hkkx IV-A ekSfyd drZO;ksa

ls lacaf/r gSA orZeku esa] dqy 11

ekSfyd drZO; gSa tks ukxfjdksa ds nkf;Roksa

dks ifjHkkf"kr djrs gSaA
41. (b)An earthworm is a tube-

shaped worm found in the
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Annelida phylum. They

usually live in soil and feed

on decaying organic matter/

dsapqvk ,d uyh ds vkdkj dk Ñfe

gS tks ,usfyMk iQkbye esa ik;k tkrk

gSA os vkerkSj ij feêðh esa jgrs gSa vkSj

lM+us okys dkcZfud inkFkks± dks •krs

gSaA
42. (c) Both mitochondria and

chloroplasts resemble

prokaryotic cells. Prokaryotic

cells are single-celled

microorganisms known to be

the earliest life forms on

Earth. Prokaryotes include

bacteria and archaea/

ekbVksdkWfUMª;k vkSj DyksjksIykLV nksuksa

çksdSfj;ksfVd dksf'kdkvksa ls feyrs&tqyrs

g S a A  ç k sd S f j; k s f Vd dk s f ' kd k, a

,dy&dksf'kdk okys lw{etho gSa ftUgsa

i`Foh ij lcls 'kq#vkrh thou :iksa ds

:i esa tkuk tkrk gSA çksdSfj;ksV~l esa

cSDVhfj;k vkSj vkfdZ;k 'kkfey gSaA
43. (c) Myopia, also known as

nearsightedness, is a

common refractive error of

the human eye. It occurs

when the eyeball is too long

or the cornea is too curved,

causing light rays to focus in

front of the retina. People

with myopia can see close

objects clearly but have

trouble seeing distant

objects./ek;ksfi;k] ftls fudV ǹf"V

nks"k ds :i esa Hkh tkuk tkrk gS] ekuo

vka• dk ,d lkekU; viorZd nks"k gSA

;g rc gksrk gS tc us=kxksyd cgqr

yack gksrk gS ;k dkWfuZ;k cgqr vf/d

?kqekonkj gksrk gS] ftlls çdk'k dh

fdj.ksa jsfVuk ds lkeus dsafær gksrh gSaA

ek;ksfi;k okys yksx ikl dh oLrqvksa

dks Li"V :i ls ns• ldrs gSa] ysfdu

mUgsa nwj dh oLrqvksa dks ns•us esa ijs'kkuh

gksrh gSA
44. (a) Silver is a pure metal,

whereas solder, bronze, and

brass are alloys./pkanh ,d 'kq¼

/krq gS] tcfd lksYMj] dkaL; vkSj

ihry feJ /krq gSaA
45. (b)A Trojan is sometimes called

a Trojan virus or Trojan

horse virus, but this is a

misnomer. Viruses can

execute and replicate

themselves, but Trojans

cannot/,d Vªkstu dks dHkh&dHkh

Vªkstu ok;jl ;k Vªkstu gkWlZ ok;jl

dgk tkrk gS] ysfdu ;g ,d xyr

uke gSA ok;jl •qn dks fu"ikfnr vkSj

nksgjk ldrs gSa] ysfdu Vªkstu ugha dj

ldrsA
46. (c)

47. (a)

48. (a)

49. (d)

50. (a)

C - QUANTITATIVE APTITUDE

51. (c) The total production of Z in

2017 and 2018 = 50579 +

44456 = 95035

The total production of x in

2020 and 2021 = 175123 +

157279 = 332402

 % of total production of Z

in 2017 & 2018 to total

production of X in 2020 &

2021 =
95035

332402
×100

= 28.59%

52. (c)
a b c

2

 
=16

 a+b+c = 32

Squaring both sides

a2+b2+c2+2(ab+bc+ca) = 1024

 a2+b2+c2=1024 – 120 = 904

 4(a2+b2+c2) = 3616

53. (b)Let, cost price = 100%

According to the question

(40 – 10)% = 120

1% = 4

100% = 400

To earn a profit of 10%

= 
110

400
100

  = 440

54. (a) P

12 cm

Q5 cm
R

Triplet 5, 12, 13

Then PR = 13 cm

Now,

cosecP + secR

13

5
 + 

13

5
 = 

26

5

55. (a)

2
1

2
P

 
  
 

[(a + b)2 = a2 + b2 + 2ab]

 4 + 2

1

P
 + 2 × 2 × 

1

P

4 + 
4

P
 + 2

1

P

56. (c)

O

QP
R

10 cm
8 cm

From Pythagorean theorem,

PR2 = OP2 – OR2

PR2 = 100 – 64

PR = 6

Then PQ = 2PR

= 2 × 6 = 12 cm

57. (c) ATQ,

100% = 360°

12% = 43.2°

Central angle for Rajasthan

= 43.2°

58. (d)  4ab = 84

ab = 21

and  a – b = 8

Cubing both sides

(a – b)2 = 83

a3 – b3 – 3ab(a – b) = 512

a3 – b3 – 63 × 8 = 512

a3 – b3 = 512 + 504

a3 – b3 = 1016

3a3 – 3b3 = 3048

59. (d)Let total number of persons
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in the beginning = x

ATQ,

x × 90 = (x – 10) × 100

9x = 10x – 100

x = 100

60. (d)The ratio of two numbers =
3 : 8

ATQ,

(3 + 8) units = 88

1 unit = 8

3 units (smaller) = 8 × 3 = 24

61. (c) P

Q

a  + 14
2

239

A
O

From figure
AP = AQ
Then,
a2 + 14 = 239
a2 = 225
a = 15

62. (b)The sum of three digits
numbers which are divisible
by 20
100, 120, 140 ...............980
T

n
 = a + (n – 1)d

a = first  term
d = difference
n = no. of terms
nth term = t

n
 = a + (n – 1)d

 980 = 100 + (n – 1)20
 n = 45

Now,
Sum of n terms,

S
n
 = 

2

n
(a + l)

S
n
 = 

45

2
 × 1080

= 24300
63. (d)The volume of cube = (side)3

= 63 = 216 m3

14. (c) ATQ,


90

1600
100

 ×
100

100

x
 = 1368

 x = 5%
65. (c) Selling price = marked price

– Discount
Selling Price  A = 1000 –
400 = 600
B = 600 – 100 = 500

C = 800 – 400 = 400
D = 500 – 300 = 200
E = 300 – 200 = 100
F = 400 – 100 = 300
G = 900 – 100 = 800
G > A > B > C > F > D > E

66. (a)
1

4
 of 

4

5
 + 

9

2
 of 

17

3
 – 

3

10
 = P

 
1

5
 + 

51

2
– 

3

10
 = P

 P = 
127

5

67. (a) sec + tan = 3
[sec + tan = x, then sec –
tan = 1/x]
Now,

sec – tan = 
1

3

68. (c) Number of girls in school D
= 39
Number of girls in school I =
10
% of number of girls in
School D to number of girls

in School I =
39

10
 × 100

= 390%

69. (d)18% = 
3

20
, 20% = 

1

5

Ratio method,

Initial   Final

20   :   23

5   :   4

100   :   92

–8

Required % = 
8

100
× 100

= 8%
70. (d)Actual speed of First Car =

200

4
 = 50 km/h

 S : S = 5  :  71 2

50 

×10

 Speed of second car =
(7 × 10) km/hr
= 70 km/hr

71. (a) Weight of R + P + K = 40 × 3

= 120 kg
Weight of P + K = 45 × 2 = 90 kg
Weight of  R + K = 35 × = 70 kg
Total weight (R + P + K + K)
= 160 kg
Now,

R + P + K   = 120
R + P + 2K = 160

K = 40 kg
– – –

72. (d)cos3A = sin(A – 18°)
[cosA = sinB, then A=90 – B]
ATQ,
3A = 90 – A + 18°
A = 27°

73. (a)Ratio of area of two similar
triangles = 36 : 121
Then,

Corresponding sides = 
36

121

= 
6

11

74. (b)The length of circumference
= 2r
= 2 × 4.9 × 
= 9.8 mm

75. (a)Difference between the
interests =
SI

1
 – SI

2

=
2000 7 3

100

 
– 

3200 6 2

100

 

420 – 384
`36

D-ENGLISH COMPREHENSION
76. (d)The correct spelling is

Fortuitous (la;ksxo'k) which
means something that
happens by chance, often in
a good way.

77. (a)Entropy ({k;) means slow
decline or disorder, similarly
Decay means gradual
breakdown.

Efficiency (dq'kyrk) means
doing work well.

Futility (fujFk Zd) means
uselessness.

Ineptness (v;ksX;) means
lack of skill.

78. (c) Desolate (lwuk) means empty
or deserted, the opposite is
Populous (ghanaa) which
means full of people.
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Empty (•kyh) means having
nothing inside.

Distressed (ijs'kku) means
troubled.

79. (c) Colloquialism (cksypky ki
bhasha) means informal or
conversational language,
which is avoided in formal
writing.

80. (d) It should be the
fundamental rights (plural)
because “one of the…” is
followed by a plural noun.

81. (c) “Make no bones about”
means to speak frankly and
directly about something,
without hesitation or to
state a fact so there are
no doubts or objections.

82. (d)Aegis (l q j{ k k)  means
protection or support,

similarly Protection (lqj{kk)
means keeping someone or
something safe.

Aggravate (fcxkM+uk) means
to make worse.

Spread (iQSykuk) means to
extend over a larger area.

Intensify (rst djuk) means
to make stronger.

83. (c) No improvement
After “benefits of”, the
verbs are in the gerund
form, maintaining parallel
structure with “becoming”
and “participating”.

84. (d)Correct order is PQRS.
P introduces the danger of

infection.
Q emphasizes that it can be

fatal and requires timely
treatment.

R specifies treatment with
antibiotics.

S states the expected outcome
of the treatment.

85. (b)Active Voice Structure
(Past Perfect, Affirmative):
The committee (subject) +
had rejected (had + past
participle) + the proposal
(object).
Passive Voice Structure
(Past Perfect, Affirmative):
The proposal (object of active
’! subject of passive) + had
been rejected (had + been +

past participle) + by the
committee (original subject).

86. (d)“Branches” is plural, so it
should be “through
branches”.

87. (d)Correct order is BACD.
B introduces the speaker’s

opinion.
A presents what is being

cultivated, i.e., positive
mental states.

C explains the effect of these
mental states.

D concludes with the result on
psychological health and
happiness.

88. (a) “connoisseur” means an
expert in a particular field,
especially in matters of
taste or the arts.
Only a connoisseur can tell
the difference between a
fake painting and an
original painting. Correct —
here it refers to an expert in
art.

89. (b)No correction required
The ability,” which is
singular, so the singular
verb “seems” is correct.
“a lost art” is correct as is,
with “a” being the
appropriate article before
“lost art.”
possessive form “today’s” is
correct with the apostrophe.

90. (a) Defiant (m¼r)  means

refusing to obey or resisting
authority, the opposite is

Amenable(j kth)  which

means ready to listen and
agree.

Suppress (nckuk) means to

put an end to something.

Halt (jksd) means to stop.

Impede (jksduk) means to

block progress.
91. (b)“speak your mind” means

to express your thoughts or
opinions frankly and
openly.

92. (c) The verb “enjoy” is
reflexive when referring to
oneself in an activity. Then
we say “enjoy oneself at/
in a place”.

93. (b)The correct spelling is

Trivial (rqPN), which means

something of little
importance or value.

94. (a)Active Voice Structure:
The insect (subject) + bit
(past verb) + the little baby
(object).
Passive Voice Structure:
The little baby (object of
active ’! subject of passive)
+ was bitten (was + past
participle) + by the insect
(original subject).

95. (c) “Encompasses” means
includes all, and “spread”
means move from one host
to another.

96. (b)
97. (a)
98. (a)
99. (b)
100.(a)

ANSWER KEY
1. (d)

2. (d)

3. (b)

4. (d)

5. (d)

6. (c)

7. (a)

8. (b)

9. (d)

10. (b)

11. (c)

12. (b)

13. (a)

14. (b)

15. (b)

16. (b)

17. (a)

18. (a)

19. (c)

20. (d)

21. (b)

22. (b)

22. (a)

23. (c)

24. (b)

25. (a)

26. (c)

27. (b)

28. (a)

29. (d)

30. (d)

31. (a)

32. (b)

33. (d)

34. (c)

35. (c)

36. (a)

37. (c)

38. (b)

39. (d)

40. (c)

41. (b)

42. (c)

43. (c)

44. (a)

45. (b)

46. (c)

47. (a)

48. (a)

49. (d)

50. (a)

51. (c)

52. (c)

53. (b)

54. (a)

55. (a)

56. (c)

57. (c)

58. (d)

59. (d)

60. (d)

61. (c)

62. (b)

63. (d)

65. (c)

66. (a)

67. (a)

68. (c)

69. (d)

70. (d)

71. (a)

72. (d)

73. (a)

74. (b)

75. (a)

76. (d)

77. (a)

78. (c)

79. (c)

80. (d)

81. (c)

82. (d)

83. (c)

84. (d)

85. (b)

86. (d)

87. (d)

88. (a)

89. (b)

90. (a)

91. (b)

92. (c)

93. (b)

94. (a)

95. (c)

96. (b)

97. (a)

98. (a)

99. (b)

100.(a)

ANSWER KEY


